

Seton 4.7

Dr. ZABRANE

10) Degree 4: zeros:  $1, 2, 2+i$   
 $\Rightarrow$  The conjugate is also a root.  
 $\Rightarrow 2-i$  is a root

15) Degree 6: zeros:  $2, 2+i, -3-i, 0$   
 The conjugates are also zeros or roots.  
 $\Rightarrow 2-i, -3+i$  are also zeros.

20) Degree 6: zeros:  $i, 4-i, 2+i$   
 Conjugates are also roots:  $-i, 4+i, 2-i$

$$\begin{aligned}
 P(x) &= (x-R_1)(x-R_2)(x-R_3)(x-R_4) \\
 &= (x-i)(x+i)(x-(4-i))(x-(4+i))(x-(2+i))(x-(2-i)) \\
 &= (x^2+1)(x-4+i)(x-4-i)(x-2-i)(x-2+i) \\
 &= (x^2+1)(x-4)^2+1)(x-2)^2+1) \\
 &= (x^2+1)(x^2-8x+16+1)(x^2-4x+4+1) \\
 &= (x^2+1)(x^2-8x+17)(x^2-4x+5) \\
 &= (x^4-8x^3+17x^2)(x^2-4x+5) + (x^2-8x+17)(x^2-4x+5) \\
 &= x^6-9x^5+5x^4-8x^5+32x^4-40x^3+17x^4-68x^3+85x^2 \\
 &\quad + x^4-4x^3+5x^2-8x^3+32x^2-40x+17x^2-68x+85
 \end{aligned}$$

$$P(x) = x^6 - 12x^5 + 55x^4 - 120x^3 + 139x^2 - 108x + 85 ; a=1$$

Det 4.7

D. RABINACI

25)  $f(x) = 2x^4 + 5x^3 + 5x^2 + 20x - 12$ , Zitat: 2.1  
 ... 2.1 is also a book

$$f(x) = \frac{(x-2i)(x+2i)}{(x^2+4)} \cdot Q(x)$$

$$\rightarrow Q(x) = \frac{2x^4 + 5x^3 + 5x^2 + 20x - 12}{x^2+4}$$

$$\begin{array}{r} x^2+4 \overline{) 2x^4 + 5x^3 + 5x^2 + 20x - 12} \\ \underline{2x^4 + 0x^3 + 8x^2 + 0x + 8} \phantom{-12} \\ 5x^3 + 5x^2 + 20x - 12 \\ \underline{5x^3 + 0x^2 + 20x + 20} \phantom{-12} \\ 5x^2 + 20x - 12 \\ \underline{5x^2 + 0x + 20} \phantom{-12} \\ 20x - 32 \\ \underline{20x + 0} \phantom{-12} \\ -32 \end{array}$$

$$\Rightarrow f(x) = (x^2+4)(2x^2+5x-3)$$

$$= (x^2+4)(2x-1)(x+3)$$

$f(x) = 0 \rightarrow (x^2+4)(2x-1)(x+3) = 0$

$x^2+4=0$	$2x-1=0$	$x+3=0$
$x = \pm 2i$	$x = 1/2$	$x = -3$

Sol.  $x = \{ \pm 2i, 1/2, -3 \}$

Remaining zeros are  $\pm 2i, 1/2, -3$

Let's try

1) Do Ruffini

30)  $g(x) = 2x^5 - 3x^4 - 9x^3 - 15x^2 - 207x + 108$ ,  $g(30) = 0$   
 $\Rightarrow -30$  is also a root.

$g(x) = (x-30)(x+30) \cdot Q(x)$   
 $= (x^2+9) \cdot Q(x)$

$Q(x) = \frac{g(x)}{(x^2+9)}$

$2x^3 - 3x^2 - 23x + 12$	
$x^2 + 9$	$2x^5 - 3x^4 - 9x^3 - 15x^2 - 207x + 108$
$2x^5$	$+18x^2$
	$-3x^4 - 23x^3 - 19x^2$
	$-3x^4 - 27x^2$
	$-23x^3 + 12x^2 - 207x$
	$-23x^3 - 207x$
	$12x^2 + 108$
	$12x^2 + 108$
	$0 \quad 0$

$g(x) = (x^2+9)(2x^3-3x^2-23x+12)$

$g(1/2) = 0 \Rightarrow x = 1/2$  is a root  $\rightarrow (x - 1/2)$  is a factor

	<del>X</del>	2	-3	-23	12
$1/2$	<del>X</del>	1	-1	-12	
<del>X</del>		2	-2	-24	0

$g(x) = (x^2+9)(x-1/2)(2x^2-2x-24)$

Section 4.7

Dr. BODOLZ

Continue # 30)

$$g(x) = (x^2+9)(x-1/2)(x^2-x-12)$$

$$= 2(x^2+9)(x-1/2)(x-4)(x+3)$$

→ Remaining zeros are:  $\{x = -3i, 1/2, 4, -3\}$

#35)

$$f(x) = x^4 + 5x^2 + 4$$
$$= (x^2 + 4)(x^2 + 1)$$

$$f(x) = 0 \implies (x^2 + 4)(x^2 + 1) = 0$$

$$x^2 + 4 = 0$$
$$x^2 = -4$$
$$x = \pm 2i$$

$$x^2 + 1 = 0$$
$$x^2 = -1$$
$$x = \pm \sqrt{-1} = \pm i$$

∴ Roots are  $\{ \pm 2i, \pm i \}$ ;  $f(x) = (x-i)(x+i)(x-2i)(x+2i)$

40)

$$f(x) = 2x^4 + x^3 - 35x^2 - 113x + 65$$

List of Rational zeros =  $\frac{p}{q}$

P = factors of 65 =  $\pm 1, \pm 5, \pm 13, \pm 65$

Q = factors of 2 =  $\pm 1, \pm 2$

List of Rational zeros =  $\pm 1, \pm 1/2, \pm 5, \pm 5/2, \pm 13, \pm 13/2, \pm 65, \pm 65/2$

Section 4.7

Dr. BABBAR

Continue # 40

$$f(1/2) = 0 \Rightarrow x = 1/2 \text{ is a root}$$

$$\Rightarrow (x - 1/2) \text{ is a factor.}$$

$$f(5) = 0 \Rightarrow x = 5 \text{ is a root}$$

$$\Rightarrow (x - 5) \text{ is a factor.}$$

$$\rightarrow f(x) = (x - 1/2)(x - 5) Q(x)$$

$$= (x^2 - 11/2 x + 5/2) Q(x)$$

$$Q(x) = \frac{f(x)}{x^2 - 11/2 x + 5/2} = \frac{f(x)}{1/2 (2x^2 - 11x + 5)} = 2 \frac{f(x)}{2x^2 - 11x + 5}$$

$2x^2 - 11x + 5$	$2x^2 + 6x + 13$
	$2x^4 + x^3 - 39x^2 - 113x + 65$
	<u><math>2x^4 - 11x^3 + 5x^2</math></u>
	$12x^3 - 40x^2 - 113x + 65$
	<u><math>12x^3 - 66x^2 + 30x</math></u>
	$26x^2 - 143x + 65$
	<u><math>26x^2 - 143x + 65</math></u>
	$0$

$$\therefore f(x) = (x - 1/2)(x - 5) 2(x^2 + 6x + 13) = 2(x - 1/2)(x - 5)(x^2 + 6x + 13)$$

To find the zeros of  $f(x)$ , set  $f(x) = 0$ .

$$\Rightarrow 2(x - 1/2)(x - 5)(x^2 + 6x + 13) = 0$$

$x - 1/2 = 0$	$x - 5 = 0$	$x^2 + 6x + 13 = 0$
$x = 1/2$	$x = 5$	

Section 4.7

Do ~~ABD~~ ~~ACD~~

Continue # 4c)

Again ok here:

$$2(x - \frac{1}{2})(x - 5)(x^2 + 6x + 13) = 0$$

$$x - \frac{1}{2} = 0$$

$$x = \frac{1}{2}$$

$$x - 5 = 0$$

$$x = 5$$

$$x^2 + 6x + 13 = 0$$

$$x^2 + 6x + 13 = 0$$

$$a = 1, b = 6, c = 13$$

$$b^2 - 4ac = 36 - 4 \cdot 1 \cdot 13 = 36 - 52$$

$$= -16 < 0$$

$$\Rightarrow x = \frac{-6 \pm \sqrt{-16}}{2 \cdot 1}$$

$$= \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$= \frac{-6 \pm 4i}{2} = \frac{2(-3 \pm 2i)}{2}$$

$$= -3 \pm 2i$$

So the complex zeros are:  $\frac{1}{2}, 5, -3 - 2i, -3 + 2i$

$$f(x) = 2(x - \frac{1}{2})(x - 5)(x - (-3 - 2i))(x - (-3 + 2i))$$

$$f(x) = 2(x - \frac{1}{2})(x - 5)(x + 3 + 2i)(x + 3 - 2i)$$